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B ATEIIIRIBES AL 28 %1 FhEh WM AWEIXEIEERE 2
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b E FEEM | B L | & E Z B T = FEEM | B L 1E 1B
N R v/ 200 g 43 21 | N AFBRIDA 500 g 486 356
LA = B 250 g 64 — | U 250 g 410 —
A= Ve rE 200 g 54 32 | &b - —
EONAFED = B 200 g 81 — | B5&5 200 648 324
Fh&E = B 8 ke 2, 160 540 | T 1T 300 g 507 378
LoAE< X PR 160 g 64 — | T—nARAm 9 9, 720 6, 480

— — — — —{ T 15 4, 320 1,728

ANy 5 & 10 ke 1, 296 1, 080
T A T A w5 10 ke 1, 620 1,188
k< & ® ¥ 15 ke 1,944 864
Xy XY 7 10 ke 1, 296 756
LA R £ % 10 ke 1,944 1, 296
XwI b B IF 5 ke 1, 296 864
729 ™ B 2 kg 864 756
k= R = 4 ke 1, 080 864
B— [ S 150 g 64 —
R ok 10 ke 6, 480 2, 700
L & £ & 10 ke 1,944 1, 296
mERnE It E 20 ke 2,376 2, 268
A LW m B 100 g 151 118
LU = B 100 ¢ 59 54
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Mo AWEEHFASZBERE 2 %® FbEb [/ 24t ] 9t ] [E+ 14 t ]
B Ofir: B AR
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T E T EEEM iz =) % B L FEEEH fir (i) fE
AFESAHHE 1ke 1, 944 864 | MY F 1ke 3, 024 1, 080
mESAHE =) 1ke 1,296 1,188 | #HN J IV o 1 kg 1,296 540
7 a 1 ke 972 259 | T = =R 1 ke 2, 160 1, 080
WAPA I 1ke 2, 268 129 | 4% FOEK L 1ke 1, 404 —
AT = 1 ke 648 507 | FU AV B & 1 ke 7, 020 1,188
ANV AA T el 1 ke 1, 080 1,047 | BTV~ JbiEE 1# 248 54
EANYTF Z 1 ke 1,728 216
&5 A g 1 ke 1,512 216
&&= I 1 ke 2, 160 1, 404
INFE 5= 1 kg 3, 240 540
7Y = 1 ke 1,728 540
AR Kk IF 1 ke 3, 240 1, 620
o ANEK L 1 ke 2,376 594




